

**PIONEER PRIMARY SCHOOL** 



Name:

Class:

Subject	√ Description		Edn	Publisher	Price	Total
		Primary 6 English Stellar Booklets (Term 1)* (To be distributed to the student when school reopens)		School Prdn	\$2.00	
ENGLISH		Primary 6 (EL) STELLAR Readers (Sem 1)* (To be distributed to the student when school reopens)		Child Edn	\$2.40	
		Grammar and Vocabulary 6		Dolphin Pub	\$7.90	\$12.30
		Targeting Mathematics Textbook 6A	1E	Star Pub	\$8.75	
MATHEMATICS		Targeting Mathematics Textbook 6B	1E	Star Pub	\$7.65	
		Targeting Mathematics Workbook 6A	1E	Star Pub	\$8.00	1
		Targeting Mathematics Workbook 6B	1E	Star Pub	\$6.05	\$30.45
SCIENCE		My Pals Are Here! Sci P5/6 Textbook - Interactions	3E	Marshall C.	\$5.65	
SCIENCE		My Pals Are Here! Sci P5/6 Textbook - Energy	3E	Marshall C.	\$2.60	\$8.25
		Social Studies Textbook 6A	1E	Star Pub	\$2.60	
SOCIAL STUDIES		Social Studies Textbook 6B	1E	Star Pub	\$2.50	1
SUCIAL STUDIES		Social Studies Activity Book 6A	1E	Star Pub	\$1.35	1
		Social Studies Activity Book 6B	1E	Star Pub	\$1.35	\$7.80
PHYSICAL EDUCATION		My Physical Education Journal P6	1E	Marshall C.	\$2.00	\$2.00
CCE (FTGP)		Character and Citizenship Education (Form Teacher Guidance Period) P6	1E	Marshall C.	\$2.75	\$2.75

# Primary 6 Mother Tongue Titles For AY 2025

# CHINESE

Subject	 Description	Edn	Publisher	Price	Total
	(欢乐伙伴) H.C.P.S. Textbook 6A	1E	Marshall C.	\$3.45	
MOTHER TONGUE	(欢乐伙伴) H.C.P.S. Textbook 6B	1E	Marshall C.	\$3.35	
(HIGHER CHINESE)	(欢乐伙伴) H.C.P.S. Activity Book 6A	1E	Marshall C.	\$3.30	
	(欢乐伙伴) H.C.P.S. Activity Book 6B	1E	Marshall C.	\$3.30	
CCE - CHINESE	好品德好公民 Character and Citizenship Education (CL) Student's Journal P6	1E	Marshall C.	\$3.00	\$16.40
MOTHER TONGUE	(欢乐伙伴) C.L.P.S. Textbook 6A	1E	Marshall C.	\$3.25	
(STANDARD	(欢乐伙伴) C.L.P.S. Textbook 6B	1E	Marshall C.	\$3.05	
CHINESE)	(欢乐伙伴) C.L.P.S. Activity Book 6A	1E	Marshall C.	\$3.00	
	(欢乐伙伴) C.L.P.S. Activity Book 6B	1E	Marshall C.	\$2.85	
CCE - CHINESE	好品德好公民 Character and Citizenship Education (CL) Student's Journal P6	1E	Marshall C.	\$3.00	\$15.15

# MALAY

		H.M.L.P.S (CEKAP) Textbook 6A	1E	Marshall C.	\$4.40	
MOTHER TONGUE		H.M.L.P.S (CEKAP) Textbook 6B	1E	Marshall C.	\$4.15	
(HIGHER MALAY)		H.M.L.P.S (CEKAP) Activity Book 6A	1E	Marshall C.	\$4.00	
		H.M.L.P.S (CEKAP) Activity Book 6B	1E	Marshall C.	\$3.75	
CCE - MALAY		Rakyat Budiman Character and Citizenship Education (ML) Student's Journal P6	.) 1E Marshall C. \$3.00		\$3.00	\$19.30
		M.L.P.S (CEKAP) Textbook 6A	1E	Marshall C.	\$3.45	
MOTHER TONGUE		M.L.P.S (CEKAP) Textbook 6B	1E	Marshall C.	\$3.25	
(STANDARD MALAY)		M.L.P.S (CEKAP) Activity Book 6A	1E	Marshall C.	\$3.20	
(••••••••••••••••••••••••						
(,		M.L.P.S (CEKAP) Activity Book 6B	1E	Marshall C.	\$2.85	

## TAMIL

	H.T.L.P.S. Theen Thamizh Textbook 6A	1E	Marshall C.	\$3.55	
	H.T.L.P.S. Theen Thamizh Textbook 6B	1E	Marshall C.	\$3.35	
	T.L.P.S. Theen Thamizh Textbook 6A	1E	Marshall C.	\$3.55	1
MOTHER TONGUE	T.L.P.S. Theen Thamizh Textbook 6B	1E	Marshall C.	\$3.40	
(HIGHER TAMIL)	T.L.P.S. Theen Thamizh Workbook 6A	1E	Marshall C.	\$3.85	
	T.L.P.S. Theen Thamizh Workbook 6B	1E	Marshall C.	\$3.55	
	T.L.P.S. Theen Thamizh Student's Reader 6A (Book 1 - 4)	1E	Marshall C.	\$6.20	
	T.L.P.S. Theen Thamizh Student's Reader 6B (Book 1 - 4)	1E	Marshall C.	\$6.20	
CCE - TAMIL	TAMIL பண்புள்ள குடிமக்கள் Character and Citizenship Education (TL) Student's Journal P6		Marshall C.	\$3.00	\$36.65
	T.L.P.S. Theen Thamizh Textbook 6A	1E	Marshall C.	\$3.55	
	T.L.P.S. Theen Thamizh Textbook 6B	1E	Marshall C.	\$3.40	
MOTHER TONGUE	T.L.P.S. Theen Thamizh Workbook 6A	1E	Marshall C.	\$3.85	
(STANDARD TAMIL)	T.L.P.S. Theen Thamizh Workbook 6B	1E	Marshall C.	\$3.55	1
	T.L.P.S. Theen Thamizh Student's Reader 6A (Book 1 - 4)	1E	Marshall C.	\$6.20	
	T.L.P.S. Theen Thamizh Student's Reader 6B (Book 1 - 4)	1E	Marshall C.	\$6.20	
CCE - TAMIL	பண்புள்ள குடிமக்கள் Character and Citizenship Education (TL) Student's Journal P6	1E	Marshall C.	\$3.00	\$29.75
CCE - EL (For NTIL Pupils)	Character and Citizenship Education (EL) Student's Journal P6	1E	Marshall C.	\$3.00	\$3.00

	HIGHER CHINESE	\$79.95
	STD CHINESE	\$78.70
TOTAL FOR TEXTBOOKS AND WORKBOOKS :	HIGHER MALAY	\$82.85
	STD MALAY	\$79.30
(WITHOUT OPTIONAL TITLES)	HIGHER TAMIL	\$100.20
	STD TAMIL	\$93.30
	NTIL	\$66.55

COMPULSORY STAT	IONE	RY/ EXERCISE BOOKS (GENERAL)				
Subject	$\checkmark$	Description	Qty	U. Price	Total	
		PPS A5 Single Line Exercise Book	1	\$0.70	\$0.70	
		PPS Examination Pad	1	\$1.80	\$1.80	
ENGLISH		5 Tabs Plastic Divider	1	\$1.80	\$1.80	
		PPS Subject File - Pink	1	\$1.80	\$1.80	
		PPS Subject Ring File - Pink	1	\$2.50	\$2.50	
		PPS A5 Single Line Exercise Book	2	\$0.70	\$1.40	
		A4 Plastic Whiteboard Set	1	\$6.00	\$6.00	
MATHEMATICS		5 Tabs Plastic Divider	2	\$1.80	\$3.60	
MATTEMATICS		OXFORD Mathematical Geometric Set	1	\$3.00	\$3.00	
		6 inch (15 cm) Plastic Ruler	1	\$0.80	\$0.80	
		PPS Subject Ring File - Blue	2	\$2.50	\$5.00	
SCIENCE		PPS A4 Science Journal	1	\$1.20	\$1.20	
SCIENCE		PPS Subject Ring File - Green	1	\$2.50	\$2.50	
MUSIC		PPS Subject File - Orange	1	\$1.80	\$1.80	
ART		A4 Sheet Protector Pack - 10 Pieces	1	\$1.20	\$1.20	
		Pental Hi - Polymer Eraser Medium	1	\$1.00	\$1.00	
		Plastic Ruler - 30cm	1	\$1.80	\$1.80	
		Lumocolor Double Ended Permanent Marker, Black	2	\$2.60	\$5.20	
		Mars® Lumograph® Drawing Pencil Single Degree 2B	2	\$1.25	\$2.50	\$45.60
COMPULSORY STAT	TIONER	RY/ EXERCISE BOOKS (MOTHER TONGUE)				
		PPS A5 Medium Square Exercise Books	2	\$0.70	\$1.40	
		PPS Chinese Composition Pad	1	\$1.80	\$1.80	
CHINESE		5 Tabs Plastic Divider	1	\$1.80	\$1.80	
		PPS Subject File - Yellow	1	\$1.80	\$1.80	
		PPS Subject Ring File - Yellow	1	\$2.50	\$2.50	\$9.30
	-		<u> </u>	<b>A a a</b>	<b>.</b>	
		PPS A5 Single Line Exercise Book	2	\$0.70	\$1.40	
		PPS Examination Pad	1	\$1.80	\$1.80	
MALAY		5 Tabs Plastic Divider	1	\$1.80	\$1.80	
		PPS Subject File - Yellow	1	\$1.80	\$1.80	
		PPS Subject Ring File - Yellow	1	\$2.50	\$2.50	\$9.30
		PPS A5 Single Line Exercise Book	2	\$0.70	\$1.40	
		PPS Examination Pad		•		
TAMIL		5 Tabs Plastic Divider	1	\$1.80 \$1.80	\$1.80 \$1.80	
					-	
		PPS Subject File - Yellow PPS Subject Ring File - Yellow	1	\$1.80 \$2.50	\$1.80	¢0.20
HIGHER TAMIL	_	PPS Subject File - Yellow	1	\$2.50 \$1.80	\$2.50 \$1.80	\$9.30 \$1.80
			'	ψ1.00	ψ1.00	φ1.00
				CHINESE	\$54	4.90
				MALAY	-	4.90
		TOTAL FOR COMPULSORY STATIONERY ITEMS :	н	GHER TAMIL		6.70
			<u> </u>	TAMIL		4.90
				NTIL	-	5.60
			<u> </u>		Ψ <sup>-</sup> T	

OPTIONAL TITLES							
Subject	$\checkmark$	Description	Edn	Publisher	Total		
OPTIONAL		Science PSLE Revision Guide	3E	Marshall C.	\$20.20	\$20.20	
		Hansvision Chinese Dictionary PX2231		Creative	\$73.00	\$73.00	
		Kamus Dewan (Edisi Keempat)	4E	Dewan Bahasa dan Pustaka.	\$29.00	\$29.00	

OPTIONAL STATIONERY						
Subject	√DescriptionQtyU. Price				Total	
		School Report Book (For New Student)	1	\$5.00	\$5.00	\$5.00
		PPS Subject File - White	1	\$1.80	\$1.80	\$1.80
		Art Apron (Black)	1	\$7.00	\$7.00	\$7.00
OPTIONAL		Digital Thermometer	1	\$5.00	\$5.00	\$5.00
OFTIONAL		21 Inch Saprano Ukelele	1	\$39.90	\$39.90	\$39.90
		CASIO FX-97SG X Calculator	1	\$35.50	\$35.50	\$35.50
		Earpiece with Microphone (For technology-supported lessons)	1	\$5.00	\$5.00	\$5.00
		A5 Exercise Book Covers (Set of 10 pcs)	1	\$3.00	\$3.00	\$3.00

#### **Sales Information**

Entry to the school will be restricted to certain dates..

### If you wish to make your purchase at the school, kindly follow the dates stated below.

You may also order your textbooks online, and opt for either self collection or home delivery via the website stated below. We thank you for your cooperation and understanding.

### PIONEER PRIMARY SCHOOL - NOVEMBER 2024 SALE SCHEDULE

MONDAY	25-Nov-24	
TUESDAY	26-Nov-24	
WEDNESDAY	27-Nov-24	
THURSDAY	28-Nov-24	For P5 & P6
FRIDAY	29-Nov-24	For P5 & P6

### PIONEER PRIMARY SCHOOL - DECEMBER 2024 SALE SCHEDULE

MONDAY	9-Dec-24	For FAS Only	16-Dec-24	For P5 & P6	23-Dec-24	
TUESDAY	10-Dec-24	For P5 & P6	17-Dec-24	For P5 & P6	24-Dec-24	
WEDNESDAY	11-Dec-24	For P5 & P6	18-Dec-24	For P5 & P6	25-Dec-24	
THURSDAY	12-Dec-24	For FAS Only	19-Dec-24	For P5 & P6	26-Dec-24	For P5 & P6
FRIDAY	13-Dec-24	For P5 & P6	20-Dec-24	For P5 & P6	27-Dec-24	For P5 & P6

Time :	Weekday - 9.00 a.m. to 3.00 p.m. (Closed on Saturday, Sunday and Eve of / & Public Holidays)
Venue :	Pioneer Primary School - School Bookshop (Please Follow Directional Signage)
Important Note :	- * Items not available during textbook sales period. Items will be given to the student when school reopens.
	- This booklist serves as a receipt. Please produce booklist, bearing the official company stamp of the vendor for any clarifications / exchange within 1 week of purchase.
	- All sold / exchangeable items are strictly NON-REFUNDABLE for cash.
	- Cash / Cheque / SGQR Payment. Price stated inclusive of GST (GST Reg. No. 2740 8000)
	- Online Order with Delivery / Self Collection available at www.rickybookcentre.com.sg
	- Online Order with Delivery / Self Collection will STRICTLY END on 20TH DEC 2024.
For Enquires :	Ricky Book Centre
	Tel / Whatsapp: 8875 9459 ( Message Only - Strictly During Sales Period and Operating Hours Only )